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PART-1II: SCHOLASTIC APTITUDE TEST
(For Students of Class VIII)

Time : 90 Minutes Max. Marks : 90
INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you open

the Question Booklet.

1. Answers are to be givenon the same OMR Answer
Sheet provided for Part-1.

2 There are 90 questions in this test booklet. All are
compulsory.

3. The Question Numbers 91 - 110 belong to
Mathematics, 111 - 145 pertain to Science and
146 - 180 are on Social Science subjects.

4. Choose the correct answer from the options given for
each question and darken the corresponding circle
with black ball point pen in the OMR Answer Sheet.
Do not mark ‘¥” or ‘X’ in the OMR sheet.

Since the time allotted for this Question Paper is very
limited you should make the best use of it by not
spending too much time on any one question.

o

6. If you do not know the answer to any question, do not
waste time on it and pass on to the next one. If time
permits, you can come back to the questions, which you
have left in the first instance and attempt them.

7. Rough work can be done anywhere in the Question
Booklet but not in the OMR sheet/loose paper.

8. Each correct answer will be awarded one mark.

9. Please return the OMR Answer Sheet only to the
invigilator after the test. Candidates can retain the
Question Booklet.

10. Quote the seven digit Roll Number without fail for
any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.
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MATHEMATICS/ &6wflgLd

Two sides of a triangle are 3 cm and 5 cm.
Which of the following can be the third side
of the triangle ?

(1) 2cm (2) 6cm

B) 8cm 4) 9cm

Which of the following expression has (x — 3)
as a factor ?

(1) x2>—4x+3 (2 x2+x-6
(3) x2-x-12 (4) x%2-5x-24

If P=—15 and Q=5, then the value of
P-Q)+(P+Q)is 5

1
1n 2. =2
-1

G @ 2
2m
7R

2m’//////;//7/// Zi)m
%

«—30m——>

Area of the shaded region is

596 m?2
96 m2

(1) 100 m? 2)
(3) 54 m? )

91.

92.

93.

94.

R PECaTamsden @ra( UssRISeT
3 Q&5 wHmb 5 Qe85 erafle, Gemeus-
uaTeUDMIET 6Tg WP &ECETentsd e
EPSTDTEUG| LIGSLONE Benwjd ?

(1) 2Qeg.8 (2) 6 Qs.8
() 8Q&g.5 4) 9 Qs.8

Gemeueauareupmier (x—3) -8 @
srrelurssd QsreTL Lo amlLé-
Cameneu

(1) x2-4x+43 (2 x*+x-6
(3) x?>-x-12 (4) x2-5x-24
P=-15 wpmbd Q=5 el
(P-Q)+(P+Q) -e gy
1
@ 5 2 -2
-1
@G = 4 2
215
V,
%
28 777277277777 20 8
7
Z

«— 3085 —

uLggled Bl uule  ugduler
uFlueTey

(1) 100 &..8 (2) 596 &..8

(3) 5488 (4) 96 &..8
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0§,

96.

98.

99.

In a triangle ABC, |C =100° and AC=BC
then |[B=___.
(1) 40°
3) 50°

) 80°
4) 45°

The difference between two decimall

numbers is 56.58. If one of the numbers is

26.13, then the other number is
(1) 82.71 (2 7211
(3) 92.31 (4) 61.11

The value of (a+b)2—(a—b)?is

1) 2@@2+b%) °  (2) 4ab

() 2@a%-b% (4 a?+Db?
Identify the correct relatiopshjp between x
and y in the given table.

x 2 | 4 | 6
y | 1 | 2 |3 [ 4]05

(1) y=2x (2) y=x+2
1 \ 1
®) y=5* (@) x=7Y

In a hostel, food provision has been given
for 75 students for 30 days. If 15 more
students joined the hostel, for how many
days would the food provision last ?

(¥ 36 @) 25
3) 100 4) 150

95.

96.

97.

98.

99
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w&Caremrd ABC -, |C =100° wpmd
AC=BC erafleb B =

1) 40° 2) 80°

(3) 50° @) 45°

@ s5w eransafien e95Ewrsb 56.58.
SleuDmIET eff eranr 26.13 erafley wHGm
6T e

(1) 8271 (@)
(3) 92.31 4)

72.11
61.11

(a+b)2—(a—b)? e LI
(1) 2(a%+ b?) (2) 4ab
(B) 2(2-b? (4) a2+b?

Qar@asiulL ol Leuamentudled®hg)
x LHmb y -Garan gRlwrer GsrLiy

x | 2 | 4 6 8 | 10
y | 1| 2| 3| 4]s

1) y=2x (2) y==x+2
1 1
@) y=3~* @) x=3V

@@ NOHude 75 wrenreuisEnsE 30
BIL&Eh&E GCaeuwrer 2 ewreyu
Qur@Llser auprstulLer. Gogw
15 wreveuiser eNBHuder Geipg
QarawLeart erafley, Sjeuajamreyl
QurmLsET Tsmear BIL&EHEES
auPBISIUGHL ?

(1) 36 2) 25

(3) 100 4) 150

Knidly Send Me Question & Answer Keys to Us: padasalai.net@gmail.com


https://kalvianjal.blogspot.com/2025/02/nmms-2025-sat-question-paper.html
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net

100. The following table shows the marks scored

101.

102.

103.

by 40 students of Grade VIII. The mode of

the data is

Marks 20(21(22)23 |24 (25

No.ofStudents| 4 [ 5| 9 |11 | 7 | 4

23 ) 11
(4) 22

(1)

@) 25

Kayal earned ¥ 27,000 per month as salary.
If she utilized her salary in the ratio 3 : 2 : 4
for education, savings and rent respectively,

then her savings percentage is

44.44% (2) 33.33%

(4)

1)

3) 11.11%

22.22%

In a simple interest, a sum of money amounts
to ¥ 4,400 in 2 years and X 4,600 in 3 years.
Then the Principal and the Rate of interest

are ’

< 3500, 4%
< 4000, 4%

(2)
(4)

(1) T 4000, 5%

(3) T 3500, 5%

Value of (0.6)2+ (0.4)2—2(0.24) is

(2) 10

4)

1) 0.100

@) 1 0.04

100
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101.

102.

103.

@ 11
4) 22

28
25

(1)
@)

swe eremueum T 27,000 -g ¢(H LIS
gbueTors QUISIDIT. F&TE FLOLTEM®S
sael, CGelly wHmb LG
QUM en&&EsTs 3 : 2 : 4 eTeyid edldlgsslen
Qeved@&mri erafled euHenLw
Gelblly #5655

(1) 44.44% () 33.33%
G) 22.22% @) 11.11%
Satleu_1q ufled @B GMUEL L

SForarg 2 yarhHsaafler T 4,400
%&b 3 Y aTHsamled T 4,600 2y seLD
wrodpg Teflld s  wLHYW
el igeisLd

(1) T 4000, 5% (2) ¥ 3500, 4%
(3) 3500, 5% (4) ¥ 4000, 4%
(0.6)2+(0.4)2-2(0.24) -eér  wHUY
(1) 0.100 (2 10

B 1 (4) 0.04
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104. What is the unit digit of (15)1° + (16)1¢ ?

(1 s @ 6

JORE! @ o

105. One of the diagonals of a rhombus is double 105.

the other diagonal. Its area is 25 sq.cm, then
the sum of the diagonals is

1) 5cm (2) 10 cm

(B) 25 cm (4) 15cm

106. If x1/3+x1/3 =14, then the value of x is
(1) 343 @ 7
(3) 49 4 14
107. A window has the measurements as given
in the figure. The area of glass required to
cover the window is
7 ft 8.5 ft
5 ft _L
(1) 36.75 sq.ft (2) 112 sq.ft
(3) 189 sq.ft (4) 54.25 sq.ft
6

106.

107.
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104. (15)15+(16)!6 -1 Q@eaTPTD Q@&ESD

1 5 (2) 6

3) 1 4 0

@R smusgIrsslen urliuerey 25 §.015..8.
Cogib geaT @@ epomeoell Lib
wHCoTT epemaeiliLgems Gurd @m
LLEEG erafle, jeueil® epene-
Nl Lhisaflen g Bged

(1) 50Q&.18 (2) 10 Q&8
(3) 25 Qa8 4) 15 Q&8

B +x1/3 =14 crafléd x -ai wdl iy
(1) 343 2 7

(3) 49 @) 14

Qsr@&siur_ L uLsdler o erer
SAeTeysaflanuiy o drer R Feanedley
QurmEsS CsmauriL@ib &eBranTmig uS\ e

LrlueTey

7 3lg | 8.5 g

S g _L

(1) 36.75 &.3llg ()

112 5. =g
(3) 189 &.3lg (4) 5425 5. Sy
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108. The cost of a shirt is increased by 15% and

109.

110.

R

sold at X 805. The original cost of the shirt

1S

(1) % 600 (2) T 650
(3) T 700 (4) X750
Q 7
m
S, 12 cm p
x‘O&\

In the given figure, the area of A PQR is

(1) 84 sq.cm (2) 168 sq.cm

(3) 90 sq.cm' (4) 180 sq.cm

Match the following.

(a) (a+b)3 (i) (a—b)(a®+ab+b?)

(b) a®+Db3 (i) a3+b3+3ab(a+Db)
(c) (a~b)3 (iii) (a+b)(a®—ab+b?)
(d) a®-b? (iv) “a®—b3—3ab(a —b)

(1) @-(ii), (b)-(iii), (c)-(iv), (d)-(i)
(2)  (a)-(ii), (b)~(iii), (c)-(i), (ct)-~(iv)
(3)  (@)-(ii), (b)-(i), (c)-(iii), (d)-(iv)
(4)  (@)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

108. «

109.

110.
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) <) R % Y N 4
@@ FLAL W@ avea 13% adiatiss;

T RS & apsuuRepy vafle
NEEL @ W e <N E QD Slev
(1 Toel (@) T oed0
@ T () 750

Qur@dsinnii. L ghd e drer A PQR -é
ugauare)

(1) 84 &.Qual (2 168 5.Qs.8
180 &.Qs.8

@) 90 &.Qual (4)

QIRTTRRAES
(@) @+u)Y @)
(L) at+

(a=b)(@%+ab+b?)
(i) a'-+ b +3aba+b)
© @=b)" (i) (a+b)a2-ab+b?)
() at=u? (iv) a’—b*-3ab(a—b)
(1) (@=(i0), (B)=(it), (©)-(iv). (d)-(i)
() (@)=, (W)=(iii). (©)-(i). (d)-(iv)
() (@=(iD), (M0, (0)-(iii). (d)-(iv)

(@) (@=({D, (MW)-(i). (©)-(iv). (d)-(i)
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SCIENCE/ 3imleSlwiev

111. Observe the following pictures and choose

5cm

the correct one on the basis of area.

5cm 6 cm 8 cm

)
@
®

@)

112.

113.

C<B<A<D
A<C<B>D
A<C>B>D
B<C<A<D

The reason for an iron ball to float in a vessel

filled with mercury is :

(1)
()

@)
(4)

density of mercury is less than that of
iron

density of iron is less than that of
mercury '

wvolume of iron is less

all substances float on mercury

Assertion (A) : Displacement of a moving

object is zero.

Reason (R) : It travels equal distances in

1)

()

opposite directions.

(A) is correct and (R) is the correct
explanation for (A)

(A) is correct and (R) is not the correct
explanation for (A)

(A) is correct but (R) is wrong
Both (A) and (R) are wrong

111. §pésam uLmsomear 2HNGHTEE

112.

113.

urliuareden SiguuemLule sfluren
MerLenws CarbolsHEsLD.

g
m | [ Joem /1\@
8 cm

5cm 6 cm

A B
(1) C<B<A<D
(2 A<C<B>D
3 A<C>B>D
4 B<C<A<D

urgrebd  Blrblw Qpa;meuufﬂei) R(H

QoY GO HSIUSHETET STFERTLD :

(1) urgressen SLTEE @y
L Gemmey

2 @mbler LTESH UTSTESDS
ALs Gewmey

(3) Q@Y Gy STy GaDey

@) ursresHo A@erssIL Gummer

. -&(@HD WOSEEGD

Fapml Qusssdle 2 6rer @

Qumpatfler @ u-
QuWTES Y gaeuitd
SIETOTLD SILQumr@mer rHQyHT
SHenggailer 0 GgTene-
clenents sL&Emg).

1) smpm &M Cogib srrewibd
Fgapmlimsren sflwren aSleT&sWD
G-

(2) @mpm &M, yerred STrETIL
gapdipsrer sflurer elleTésd
S|Ve.

(B) &apmy s, STFEwIL Seum.

(4) &npm WOHMID SIFEUTD @raT(HLD
Seum).

Knidly Send Me Question & Answer Keys to Us: padasalai.net@gmail.com


https://kalvianjal.blogspot.com/2025/02/nmms-2025-sat-question-paper.html
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net

114. Choose the wrong statement(s).

115.

(1)

(i)

i)

(iv)

(1)
(2)
(3)
(4)

Temperature is a measure of the total
Kinetic energy of the molecules in an
object.

SI unit of temperature is Celsius.

Liquids expand on heating.

Alcohol is used in thermometer.

(i) only

(i) and (i)
(9, (i) and (it
(i), (i) and (iv)

Match the following.

(1)
(2)
(3)
(4)

Freezing point (i) 357°C
of water

Boiling point @i 273.15 K
of mercury

Freezing point (iii) 212° F
of alcohol

Boiling point - (iv) less than
of water —-100°C

(2)-(iv), (b)-(ii), ()-(ii), (d)-(i)
(a)-(ii), (b)-(), (c)-(iv), (d)-(iii)
(2)-(iv), (b)-(ii), (c)-(iii), (d)-(i)
(a)-(iid), (b)-(iv), (c)-(i), (d)-(ii)
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114. geupren sapHm/embnisenens
CsTHEE[H&s.

115.

(1)

@@ Qumrmefler 2 érer apes-
smsaflen QLTES QWEE U DOD
<igen Qeuliublepawm@w

() Qalufeeulea SI  A0E
Qedlwuen 2,GLW

(i) Syeumsemar Qeasiuiu(®ggo

b Gurgl el aSlfleuen b

(iv) Qeutiufleneraiuder oEaDTED
pweruGSsUUB DS

(1) (i) LLBHD

(2) (i) LODID (ii)

(3) (), (i) wHD (iii)

4) (i), (i) OO (iv)

Qumrmssis.

(@) Bfler 2 empBlenew (i) 357°C

(b) urgresslen (i) 273.15K
Qardflene

() <y evsammedler (i) 212° F
2 enmibleney

@) Bfen Qerdflenew  (iv) —100°C

-&(&LD
n

(1) (@)-@v), (b)-(ii), (c)-(ii), (d)-(i)

(2)  (a)-(ii), (b)-(), (c)-(iv), (d)-(iii)

@)  (@)-(iv), (b)-(ii), (c)-(iii), (d)-(i)

(4)  (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

Knidly Send Me Question & Answer Keys to Us: padasalai.net@gmail.com


https://kalvianjal.blogspot.com/2025/02/nmms-2025-sat-question-paper.html
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net

(CODE[VIII] 11 | 25 ]
116. Choose the correct statement.
(1)

Conventional current flow is from
negative to positive.

Electric current is the flow of electrons
from negative to positive.

)

Electric current doesn’t flow ina closed
circuit.

C))

(4)  Electric charges flow towards a point

of high voltage.

117. The galaxy that is closest to our Milky Way
is:
(1) Spiral galaxy
(2) Elliptical galaxy
(3) Andromeda galaxy
(4) Imegular galaxy

118. Observe the figure and find out the values
of a, band c.

N
P R
b
a
43° c
X Q Y
(1) a=90° b=43° c=yqyo
(2) a=43° b=47° c=47°
(B) a=47° b=47° c=43°
4) a=43°  b=90° =4y

10
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116. sAwren spderars CsiHA5HEs.

1) wry WenGarrL_L b T dir
waoawldmbs Cripeass
QeadleTmg).

WeGenm L b eTaiug eTQ&L -
grenger AT peanie Qmisg
Crir perans@s edeusnELo.

apgw Wearsandled WerGarm i

()

(3

Umumg).
4) degrLmsd s Ben-

Crrsdll umyib.

pwg  urdaasfrErse mAa
Qm&eWw eflamber Syer

(1)  &mer eflamber Hyer

(2) Bereu L eflemBer Syer

®) <& CrrwLr eflemSdr Srer
() eursin NS Slyer

117.

118. Yereuqpib ULS®s 2 dmiGrréd a, b

DD ¢ -6 WHILseaTE ST,

N

P R
b
a
43° C
X ‘ Y

(1) a=90° b=43 c=y7
(2) a=43° b=47° c=47°
B) a=47°  b=4rr (o430
(4) a=d43° b=gpe . _4»
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119. Assertion (A) :

Reason (R) :

(1)

)

©)
4

www.Padasalai.Net

Solid angle is three

dimensional.

Solid angle is formed by
the intersection of three or
more planes at a common

point.

(A) is correct and (R) is the correct

explanation for (A)

(A) is correct but (R) is not the correct
explanation for (A)

(A) is correct but (R) is wrong

Both (A) and (R) are wrong

120. In conduction, during the transfer of heat :

(1)
(2)

(3

4)

molecules are transferred.

heat energy is transferred without the
actual movement of the molecules.

heat energy is transferred by the actual
movement of the molecules.

heat energy is transferred between
two points which are at the same

tempera ture.

11

119. SO

120.

SMJ6UTTLD :

(1)

2

@)
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P SHONVG AHBDES
Cupul L geTruser
Qurgeurer Ljererudled
QaulPeusme Fawrins
GaranTd 2 (Heun&lmg).

sampm &fl G sy
gapmmenen sflwurer eferésn

G-

empm &M, yerred sSnyeTHTd
gammipsnest sflwrear aNarésLnae.

Fapmi &M, 21T STTETBILD Soumy.

&M, STFEssTD @)iresor(HLd Seum|.

Qeuliug sLgsellen Gurg Hlapoug :

@)
2

®)

(4)

CPREFMGET @D QUWITdlenmer.
pevssamsetlen @uissnd @daned
Qautiu %ODO LB SLGSLI-
LOE DG

(PR&EFD Qusssdarme Qeuliu
QDD SLFSILBEDS.

Ceuliu ghperearg o Qeuliu

Blenaud e 2 e D
Yerefls@mé & Qe L_Cuw
SL$SLLBE D).
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121.

122,

123.

124.

Choose the correct statement(s).

() Sound doesn’t require a medium to
propagate.

Sound travels faster in solid medium.

(i)

(i)

Speed of sound in air is 331 m/s at

0°C.

(iv) Loudness of sound depends on its
frequency.

(1) () and (i) (2) (i) and (iv)

(3) (i) and (i) (4) (i) and (iv)

Choose the odd one out.

(1) Carbon (2) Silicon

(3) Phosphorus (4) Sulphur

Atomic number of oxygen and sodium is

respectively.
(I) 8and10 (2) 6and8
(3) 6and11 (4) 8and11
Choose the wrong pair.
(1) Hydrogen, Carbon - Monovalent
(2) Hydrogen, Sodium - Monovalent
(3) Oxygen, Beryllium - Divalent

(4)

Nitrogen, Aluminium - Trivalent

121

122.

123.

124.
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. eflurer EpHN&SmaTS Ggﬁ!b@ﬁ@é,g,
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0° Qevflweller srHMlea @G,
HensGeusid 331 5/a.

(iv) @adluller 27Uy <igen oy
Qeuatmenents CLIM(mEg, Sidlng,
(i) OmI (i)
(i) LopYILD (i)

(1)
(3)

(2) () whmb (v)
(4) () vy (iv).

QuIBHSTS Gaterns CoibsBasamn,

1) smruer (2) HeOésren
(3) umevUFeEL (4)  sevo.urm

<24, & 6l &g 6t LDHMID Gemgwid
S fluaupdler igm eramser wanmCu :
(1) 8LHMB 10  (2) 6 wHmb 8
(3) 6wHmb 11 (4) 8 wHm 11

QurBbsTs @eamemiemans CainAsHés
(1)  evam ymen, smiruer -
DD Qeandna
®amL rmerr, Camgwid -
@p@p Qoo
g seailger, Quflewd -
By @aandpd
BLrmen, iguilaflun -
@pLbenLo QeramPer

(2)

)

4)

Knidly Send Me Question & Answer Keys to Us: padasalai.net@gmail.com


https://kalvianjal.blogspot.com/2025/02/nmms-2025-sat-question-paper.html
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

125.

126.

(iif)

(iv)

www.Padasalai.Net

Match the following,.

(a) Non-periodic (i)  mixture of

change quick lime and
water

(b) Exothermic (ii) eruption of
change volcano

() Physical (iii) curdling of
change milk

(d) Chemical (iv) crystallisation
change

(1) @-(), (b)-@), (c)-(iv), (d)-(ii)
(2)  (a)-@), (b)-(id), (c)-(iv), (d)-(ii)
3)  (@-@v), (b)-(idi), (c)-(ii), (d)-(1)
4)  (a)-(id), (?)-(iV), (©)-(0), (d)-(i)

Choose the correct pair/ pairs.

Heating Freezing

Solid ———=— Liquid -

Liquid _Healing , Gas - Evaporation
Gas —°9lng ,1iquid - Condensation
Solid —<29MNE 5 Gas - Sublimation
(1) (@) and (i) (2) (i) and (iif)
@) (i) and@v)  (4) (i) and (iv)

125.

126.

(i)

(i)

(iv)
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Qun(F58)5.

(a) & Ay (i) &l

WIHOLD & o @ T D -
yren B
Csizs
sy
(b) Qavu 2Bl (f) eflvaw
chlenen Qeur iy
) HupGwe (iii) wmed
LOTHHLO sullgrge
d) Caudulwe (iv) U sWLI5DH
LOMHMLD

1)  (a)-(i), (b)), (c)-(v), (d)-(iii)
2 - (@-@), ®)-(), ()-(v), (d)-(i)
(3)  (@)-(iv), (b)-(iii), (c)-(id), (d)-(1)

(@) (a)-(i), (B)-(iv), (9)-(1), (d)-(i)

sflwmer Qenewt/ Qenemsanars Gsiin-

C5H&s.

SHepmon ANUUILBESED | Hrand -

2 MG
QU’QJL.D Qaututiu@®ss150 s eumyy -
< lwmrsen
eury _GNTeEsD | Hrab -
26l SHEGSD
o GMIAEED | gy -
USRIGLOTSD

(ii) odmID (iii)
(i) LHMID (iv)

(1) () wogw @) (2)
(3) (i) pmd (iv) (4)
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127. Assertion (A) : There are some changes in
which heat is absorbed.
This endothermic
change.

Water absorbs heat and
becomes water vapour by
the process of evaporation.
Ice absorbs heat and

becomes water by the

is

Reason (R) :

process of melting.
Both (A) and (R) are correct
Both (A) and (R) are wrong
(A) is correct; (R) is wrong
(A) is wrong; (R) is correct

1)
)
©)
4)

128. Match the following :
(a) DNA
() Lignin
(c) Chitin
(d) Plastic

(i) spiders

(i) protein \polymer

(iii) synthetic polymer

(iv) gives structure to plants

(@)-(3), (b)-(i), (c)-(ii), (d)~(iv)
(@)-(iv), (b)-(it), (c)-(ii), (d)-(i)
(@)-(id), (b)-(iv), (c)-(i), (d)-(ii)
(a)-(itd), (b)-(3), (c)-(iv), (d)-(ii)

(1)

(2)

()

(4)
129. and are antibiotics.
Diclofenac, Ibuprofen
Diphenhydramine,
Chlorpheniramine

(1)
(2)

(3)  Chloramphenicol, Tetracycline

Sodium bicarbonate, Calcium

(4)

carbonate

14
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Hev THDEG6 e Gung

Mt Qeuliud e PlGstiugp.
Apgl. @8 Qeutu gpy
LOTHDLOMEGLO.

snyewnd : b Geuusms e figd
<, 6NUTHED epavid el
wrélpg. ualléay
Qautiuges T
CRGIGTHL Gl
Brrélmg.

1) &pm, &nyewwIo @rearHiw af

) a‘m_!bgj, STT6TTTLD @'T@’.W@Lb seum

(3)  &apmy &, ST Heum)

(4)  empmy soug. smyevTd 5

QummBEEIs

@) w.erere (i) Heps

(b) &saflenr (i) yrs Leoulg

(0 eslyen (i) Qewmnens Ueoulg

(d) GpHY  (iv) SIT6U TR & (6T (56

SLL el
Cer@uug

(1) (@)-G), (b)-(i), (c)-(iii), (d)-(iv)

(@) @-Av), b)-(i), (0)-(ii), (d)-()

@) @-G), ©)-v), (©)-(), (d)-ii)

(@) @), (b)-G), (0)-(iv), (d)-(ii)

LOHMID eTETLIGn 6

e LTty &G e < (GLD.

(1) e &CarmQennrs, QulieneLien
(2) g Querenant Fenine,
&CerriQuef yenioen
(3) @GGTT[TGIJ’ITLblS]GOﬂéS&ITé),
QUL rrenssdaflen
4) Gemgwo eusTTuGar,

STl &mruCerr_
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130. Constituents of elements in Calamine are -

131.

132.

133.

(1) copper, sulphur, oxygen
zinc, carbon, oxygen
zinc, copper, oxygen

Fishes and meat contain high level of :

(1) poly unsaturated fatty adds

mono unsaturated amino adds

&)

(3) poly saturated fatty adds

(4) poly unsaturated amino acids

The two metals that do not react with
oxygen even at high temperature are :

(1) Cu, Ag (2 Ag Ca

(3) Au, Pt (4) Mg Pt

Find the odd statement in the changes that
take place in a flower during post
fertilization.

(1) Calyx sometimes persist with fruit.

(2) Androecium fall off.

(3) Ovules present inside the ovary
develops into fruit.

(4) Style and Stigma fall off.

15
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‘sroocd - QTS ST onss

(1) sA8nd. =207, ASeSge

(2) SZESETEO. STLE. RSSO

@) sfsprsd. g8, kEeiges

(¢) Gexuwn, srfud, SEsprsd

BasEsh. Qend&uyd SEs ST@@

& Qarsrfeas

(1) ueus Hopuupr Qaruy
SpPRIssT

2 sous  Sepaypr WO Carr
T

() uweour Hopapp QsTEuy
Siflerisst

@) uveoug Hopgypr SWOCarr
SifloRisar

. Sifls Qaniusdih PEI[IL

devayflurs Qm o Corsmisar :
(1) Cu Ag (2) Ag Ca
() Au Pt (4) Mg Pt

SHYNSREGSL e wefléd perL Qumib
wropmseailed QurEpbsTs eaT@OPS
Gsitey Qawis.

(1) feo saflsalleo yeoed el Lid
sNCwT® @l HeowsdHmesLw.
LEFHSSSTET ul_Lb o Hiflng.
G&Denuulled 2_ctem G saflEerTra
wrmélemen.

GV&S FETHID, GDeruwb o §i-
Semen.

()
3)

(4)
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134. Which one of the following sequence is in

135.

136.

correct order ?

(1)

3)

(4)

Flower — Seed — Pollination —
Fertilization

Flower — Pollination — Fertilization
— Seed

Flower — Fertilization — Pollination
— Seed

Flower — Pollination — Seed —

Fertilization

Match the following.

(a)

©)
(©)
(d)

1)
(2)
3)
(4)

Underground - (i) Nepenthes
stem

Traps (i) Avicennia
Gases exchange (iii) Cuscuta

Sucking root (iv) Colocasia

()-(iv), (b)-(3), (c)-(ii), (d)-(ii)
(a)-(iv), (b)-(3), (c)-(ii), (d)-(i)
(@)-(i), (b)-(id), (c)-(iv), (d)-(iii)
(@)-(), (b)-(iv), (c)-(iii), (d)-(ii)

Select the true statement about Lysosome

among, the following,

(1)
(2)

3)
4)

Involves in Protein Synthesis

Generates energy for the cell

Helps in cell division
Acts as the main digeslive

compartments of the cell

134.

135.

136.
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() eumy uflbrHmb (i) SevEGLLT
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SipriG

(D) @-Gv), B-6), (©)-Gi), (d)-Gii)

(2)  (@-(iv), (b)-(l), (c)-(ii), (d)-(ii)

@) (@-@), (b)-G), (c)-(iv), (d)-(ii)

(4)  @-(), B)-(iv), (0)-(iii), (d)-(i)

Yeneumeuameupmiet “‘eaCerGsmbaer”

updlw o e wwmes G () v 15
Caib0sHé&asa L.
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Which one of the following statement depicts

the characteristic feature of Gymnosperms ?

(1) They produce flower with four whorls
such as calyx, corolla, androecium and
gynoecium.

They possess vascular tissues, xylem
without vessels and phloem without
companion cells.

Ovary develops into fruit and ovule
develops into seed.

The plant body is well differentiated
into true root, stem and leaves.

138. The causative agent of Periodontitis is :

Bacteria in teeth

Vitamin C deficiency
Genetic condition
Tobacco chewing

. Choose the incorrect pairs.
Muscle cells - long and spindle shape
Epithelial cells - biconcave and disc

shape
Red blood cells - irregular shape

Nerve cells - branched and elongated
shape

(1) ()and ()  (2) ()and (i)

3) (i) and (iv) (4) (i) and (iv)
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137. &psamL ersAlwmsafica, BHliCamen-

138.

139.
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1)
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140. Each cell is interconnected with its

neighbouring cells through

(1)  Protoplasm
(2) Cytoplasm

(3) Plasmodesmata

(4) Cell membrane

141. Choose the correct order of the processing
of wool.

1) Shearing, Scouting, Sorting, Carding,
Spirming

(2) Shearing, Sorting, Scouting, Carding,
Spin.ning

(3) Shearing, Scouting, Carding, Sorting,
o Spinning

(45 Shearing, Sorting, Carding, Scouting,
Spinning

142. Find the correct statement(s).

(i)  Penicillin is used to treat diseases such
as Tetanus and Diphtheria.

(i) Probiotics are used to decrease
cholesterol absorption.

(iii) E-coli bacteria living in human
intestine helps in the synthesis of
Vitamin - A and Vitamin - D.

(1) (i) and (iii) (2) (i) and (i)
(3) (i) only (4) () and (i)

18
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@) s55Mf5560, srb9MN 556,
A6C05055w0, SIS, HIHD
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- ApMIb el 186 - D sal (LI
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) () wpmyd (i) (2) (i) LHmLd (iii)

(3) (i) vl P (4) (i) wHmw (i)
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143. Dandruff is caused by :

1)
2
®
)

Trichophyton species
Microsporum furfur
Albugo candida

Tinea pedis

144. The role of optic nerve is :

1)

(2)
3)

(4)

To carry all the nerve impulses from
the retina to the human brain

To adjust the eye lens

To control the eye movement

To provide nutrients to the eye

145. Match the following :

()
(b)
(©)
(d)
1)
()

3)
(4)

Upper arm (i) Carpals

bone

Wrist bone (ii) Metacarpals
Palm bone (i)  Phalanges
Finger bone (iv) Humerus

(a)-(i), (b)-(i), (c)-(iv), (d)-(ii)
(@)-(iv), (b)-(ii), (c)-(i). (d)-(i)
(@)-(v), (B)-(), (c)-(i), (d)-(ii)
(a)-(iii), (b)-(3), (c)-(id), (d)-(iv)
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143. QUG ML GG LEHens :

144.

145.

(1)
(2)
(3
4)

g FCaT-emULLTe @ad
e W&ECFTEGUTTD oolffo oI
ooyCar Gaewrig LT

eafwm Cluigev

urfreney BN Ll :

(1)

()

Simadg - BrHUS SN~
soetyd efisHerrudier QBHHS
Qupm, apoa&EE THESE
Qeadmgl.

Qeveneng &fl CFwLISe.

(3) sehr oM smeaTs  SL(HU-
LSS5

4) saTaing o’ L F&5 S| &M 6T
GULPTBIGSEV.

QuT(HSHIS

(a) Cuwp s (i) &mTTULSET
6T e|LDL

(b) Lb@ﬁﬂé;&L@ (i) Guilm
GTE)ILDL STTUG&GIT

() o eToTRIHS (ili) ooLIGLMEHEFED
GTEYIIDL|

(d) elyed eruibyy (iv) amOwrev

1)
)
©)
(4)

()-(i), (b)-(3), (0)-(iv), (d)-(iii)
@)-(v), (b)-(iii), (c)-(3), (d)-(ii)
(@)-(v), (b)-(3), (c)-(i), (d)-(ii)
(@)-(iii), (b)-(3), (0)-(id), (d)-(iv)
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SOCIAL SCIENCE / &¢1p& jfledlwiev

) . . qar 2. Cursssaea
146. The composition of metals in the coins 146. g;rramu.um&ﬁﬂ@) o em u

. mm@ .
indicate the condition of the Guppflem ___——— B wa
Empire. @[ﬂ{s@d).

3 FePS
(1) Political (2) Social 1) <rdue 2) &
(3) Economic (4) Cultural 3) Qummartgmy (4) STsETY

147. Assertion (A) : Cholas gave importance to 147. mOM) - Cempraer, ﬁ,wuuw&mgﬁm@

irrigation. (PSS WSHIGULD cuipraidleuir,
Reason (R): The 16 mile

long | snyewID &SRS QSTETL
embankment built by GEWL})HU’@QG‘)' @g’@m‘?
Rajendra Chola I in Gangai @Urr@glbé"f Gampened

Konda Cholapuram stands

o eurGsLILL L. udlemy
as the best example.

eowe Herb Cera s -

seofs S(HLILIeHEnT

WsFSDHS

T(HSHSSTLLTGLD.

(1) (A) is correct but (R) does not explain 1) s=pmy &f, Yearrd SNrewIn
(A). Fapenm derssEelene.

(2) (A) is correct and (R) is the correct (2 epmi &M, Cuoab srrewib,
explanation for (A). FaDMID&Test Flwires eflen&&LOMELD.

(3) (A) is correct and (R) is wrong,. @) e=pmi &M, srrewid Soum.

(4) Both (A) and (R) are wrong. (4)

SaDM| LHMID SMrewwTd @b
Seum.

148. Delhi Sultanate followed

type | 148. QLéed & 6D & IT 601 & 6T UM
of architecture. SLL L &&HmeeniiL] Gerupmermirger.
(1) Gandara style 1) &stHsTrE see
(2) Indian style 2 QBrHwWs s
(3) Indo-Saracenic style B) QCsr sryrsrefs HENE
(4) Rajasthani style (4) Qrrgavsrais sena
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started a mass Raksha B

_ andhan
festival during the Partition of Beng

al.

Mahatma Gandhi
Sardar Vallabhai Patel
Subhash Chandra Bose

Rabindranath Tagore

Ala-ud-din Hasan Bahman Shah divided the

Kingdom into four territorial divisions called

(1) Sthalas (2)

Tarafs

Mandalams (4) Gauda

(3)

In the Mughal administration

was in-charge of the army.

(1) Wakil (2) Mir Saman

(3) Mir Bhakshi (4) Sadr-us-Sudr

21
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152. Match the following :
(@) Peshwa (i) Secretary

(b) Shurunavis (i) Chief Justice
(c) Senapati (iti) Prime Minister

(d) Nyayadhish (ivy Commander-
in-Chief

1) (@)-(d), (b)-(), ()-(v), (d)-(i)
@) @-@v), B)-(id), (o)-(), (d)-()
@) (@-(@), (b)-(ii), (c)-(iv), (d)-()
@) (a)-(d), (b)-@), (c)-(i), (d)-(iv)

153. _ is considered as a typical
representation of Tamil Buddhism.

(1) Thevaram (2) Manimekalai

(3) Silapathikaram (4) Vira Sozhiyam

154. “Raksasa Tangadi” was also known as

(1) Battle of Panipat
(2) Battle of Talikota
(3) Battle of Tarain

(4) Battle of Chausa
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152. QumHSSHS :

153.

154.

(@) Gueigeurm ) Cewep

(b) &predlen (i) sdeeny
EHug

© Gsanrug (i) YGysw
S|DWEFT

d)  Hurwdav (V) Sowemng
serud)

() ()G, (B)-(0), (©-Gv), (d)-Gi)
@ (@)-Gv), B)-G), (©)-), (-G)
@) @-G), -G, ©-Gv), @-G)
@) (@), (0)-6), -G, [@)-Gv)

— sblp  Guargsseg
GrdEHssuLLBSSIUSTGLD.
1) Ggeumyw 2) waeflGwsem

@) Sedudarrd (4) &SrGsmPut

“Iréss Shisy’ eremmdlwiul L Gun

(1) wreluul U Cumr
(2) saewsGasrien Gumr
(B) sQrulen Cumr

4) Qserer Gunr
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_____ was the famous Buddhist
Vihara.
(1) Ajanta (2) Karli
(3) Nalanda (4) Kanheri

was the immediate cause of the
Vellore Revolt.
(1)

Introduction of new turban

Introduction of New rifles

(2)

(3) Ban of religious marks
(4) Indian Sepoys were treated inferior
Arrange the following events in

chronological order.

(i) Battle of Adayar

@) First Anglo Maratha War
(i) Battle of Buxar

(iv) Battle of Arcot

(1) (D), (i), (i), (iv)

() (), (iv), (i), (i)

@) (i), (i), (@), (iv)

(4) (i), @iv), (i), (i)
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S Wes Aphs Guearss
NsTepTWTELD.

(1) IRHsT (2) smried

(3) mraTHET 4) saCGanfl

Ceugnit swsgsHen o Larigé
srrewfl 24,@GLW.

(1)
(2)

AW s@OUILT®S DPPsD

HHW s DADPSD
FLOWI SIEDLITETS SeoL

3)

@rHdwu Huurlsemer Frpeurs

BLSS W

(4)

Yeraupd Blapaysamer ST Fwliug
auflensiu(h555.

0  slerwrmy Gumd

M) oo <mHCoWw wrrsHucs Guri
(i) w&ert Cumr

(iv) ymasripHu Gumr

1) @), (@), (i), (iv)

(2) (@), (), (i), (i)

(3) (i), (i), (i), (iv)

(4) (i), (iv), (0), (i)
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158. The drain theory was propounded by

159.

160.

(1) Mahatma Gandhi
(2) Rabindranath Tagore
(3) Dadabhai Naoroji

(4) Jawaharlal Nehru

“Keeladi” is situated in the
district of Tamil Nadu.

(1) Madurai
(2) Sivagangai
(3) Pudukkottai

(4) Ramanathapuram

is the world’s biggest Active
Volcano.

(1) Fujiyama
(2) Kilimanjaro
(3) Popa

(4) Mauna Loa

www.TrbTnpsc.com
158. Qedous ST Gariurien
wan@urfpgaf ——
(1) &TSLT e;rr;'rpﬁunq_ais'ﬂ
@ @reSprprs srenT
(3) srHTUML QparGrrg)
@) euaniere 6,10
159. &g’ g';LIS]@(I_T)ﬂ'l;_L.q.G.\). L
brail LGS SInDbSIereTs).
1) gy
2) SHeushmas
(B) yssEGariamL
@ @rmoprsurs
160. 2 @dler  WsLQUAW Qeweu@D
erflene <@,
.(1) Quwewiror
2) SeflwmeperGrm
@) Gumium
(4) weyerr Geor
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Identify the picture :

D)

(1) Ox-bow lake

(2) Plunge pool
(3) Meander

@) Delta

The World Cultural Diversity Day is observed
on

(1) 11" July (2) 215 May

(3) 21 February  (4) 11t June

Among the following which of the statement
is wrong ?

(1) Petroleum is drilled from oil fields.

(2) By-products of petroleum are diesel,
petrol and kerosene.

(3) Petroleum and its derivatives are called
Black diamond.

(4) Arab Countries are leading producer
of petroleum.
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1) g9@w® 11 2 Guw21

(3)  Qugeufl 21 (4) g9er 11

smmsafler eTg seupreng ?

(1) QuiCrrelwib erawr@emTis cuwic-
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L@ &g

(2) s&sr aamQamule) (HHg D,
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e &8sy
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Identify the correct pair.
(1)  Nainital - West Bengal
Shillong - Kerala

Ooty - Uttarakhand

Shimla - Himachal Pradesh

compounds are used in making
disinfecting liquids, bleaching powder, etc.

(1) Bauxite

(2) Limestone
(3) Coal

(4) Manganese

North America has Time Zones.

1 7 2 5

3) 8 4) 11

Red colour in the map denotes
(1) Snow (2) Settlements

(3) Agriculture (4) Forest
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river forms the boundary
between USA and Mexico,

(1)
()
®)
(4)

Mississippi
Rio Grande
Missouri

Mackenzie

Bhopal Gas Leakage is an example of
disaster.

(1)
(2)
(3)
(4)

Man-made
Natural
Industrial
Technological

South India lies in the zone.

1) Torrid

@)

Temperate

)
(4)

Frigid Tundra

rocks are formed by compacting
and cementing.

@)
()
3)
4)

Intrusive igneous
Metamorphic
Sedimentary

Extrusive igneous
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172. Which of the following is not a reason for

drought ?

(1) Failure of monsoon

(2) Afforestation

(3) Reduction of ground water

(4)

Lack of rainfall

173. Match the following :

(a)' Private Sector industry (i) Mahanagar

Gas Limited

(b) Joint Sector industry (i) Steel Authority

of India
Limited

(c) Public Sector industry (iii) ~ Anand Milk

Union Limited

(d) Co-operative industry (iv) Reliance

(1)

2

®3)

(4)

(@)-(iv), (b)~(i), ()-(ii). (d)-(iii)
(a)-(3), (b)-(ii), (c)-(ii), (d)-(iv)
(a)-(iii), (b)-(iv), (c)-(1), (d)-(ii)

(@)-(id), (b)-(i), (c)-(iti), (d)-(iv)

www.TrbTnpsc.com
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173.

1) umeway QUIDSES

()

(3)

(4)

Hassy i GPOES

GENDEU Tl wepliQumple]

QUIBSHIS
(a) safwrt geop (i) LSTHST eury
Qamflesbd Hlmieueid
b sLOsmop (i) AU QJOLY
QgmlesLd 6Too(®
<24, 65 ST WILD
© Qurgssmn (iii) YeaTHS UTQ
QgmfesLd e Hlw
15l mieu GsTLD
d) sl Ooeysgiemn (iv) fepewere
Qs miflevsid
(1) (@)-(iv), (b)-(i), ()-(ii), (d)-(iii)
(2)  (a)-(), (b)-(ii), (o)-(iii), (d)-(iv)
() (a)-(ii), (b)-(iv), (c)-(1), (d)-(ii)
(4)  (@)-(id), (b)-(1), (c)-(iii), (d)-(iv)
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To become a member of Legislative Council,
one should have completed

years of age.
(1) 25 (2) 30

@) 35 4) 18

Find the odd one out.
(1) Television (2) Radio
(3) Newspaper (4) Letter

Find the correct statement/statements :

()  The Leader of the Opposition Party
holds the rank of Cabinet Minister.

(i) Opposition Party cannot raise their -

voices on the wrong policies and
failures.

(i) An effective Opposition Party is very
essential for the successful operation
of the Democracy.

(iv) Opposition Party seriously criticizes
the policies and bills introduced by the
Government.

(1) (i) only
(2) (), (iii) and (iv)
(3) (i) and (iii)

(4) Al the above
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177. The first woman to space, Valentina

Tereshkova belongs to country.

(1) USA
(2) Japan
(3) USSR
(4) India

178. is the shape of ‘Stop” sign.
(1) Octagon '
(2) Circle
(3) Triangle
(4) Hexagon

179. denotes ONE TAX, ONE
MARKET AND ONE NATION.

(\1) Value added Tax

(2) Excise duty

(3) Goods and Service Tax
(4) Wealth Tax

180. The students should be encouraged to open

scheme.
(1) Insurance
(2) Sanchayeka
(3) Stock
(4) Mutual funds

-00o0-

177. gl  NambeueaisEs

178.

179.

180.
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